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(el . #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
4.500 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((0.000 = 0.750) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
3.375 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
sz . WdR = WdiE X EH X (ETHER + REER + RIBER + MELER)
4.826 m3 = 0.750 % 1.430 * (4.500 + 0.000 + 0.000 + 0.000)
LRI . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
3.375 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
PRARAE A . #E = (EFE - F@E) X MFEEER) + (FdE X (ETER + KR + RiBER + MELR))
3.375 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE X Bl X SFEEER) + (F@EE X BER) - FmfH) X LTER) + (F@iE X EL X (REBLEE + LR + MELER))
3.386 m3 = ((0.000 - 0.750) * 1.010 * 0.000) + (((0.750 * 1.010) — 0.005) * 4.500) + (0.750 * 1.010 * (0.000 + 0.000 + 0.000))
BFETHOREL . #E = (MFEEIR X JBER) - GR@EEHIEERE X ZEES)) X MFRER + CRERHEFER X BER) X (ETER + {RIBLEE + RBERE + MELEER)
0.675 m3 = ((0.000 * 0.000) — (0.750 * 0.000)) * 0.000 + ((0.750 * 0.200) * (4.500 + 0.000 + 0.000 + 0.000))
7% A5 T ) SASHRHIE R = (GEFIE - FEiE) X BEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RiBER + MELR))

(Eli e H)

0.168 m3 = ((0.000 — 0.750) * 0.050 * 0.000) + (0.750 * 0.050 * (4.500 + 0.000 + 0.000 + 0.000))
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4.500 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
PRARAE A . #E = (EFE - F@E) X MFEEER) + (FdE X (ETER + KR + RiBER + MELR))
4.500 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE X Bl X SFEEER) + (F@EE X BER) - FmfH) X LTER) + (F@iE X EL X (REBLEE + LR + MELER))
5.103 m3 = ((0.000 - 1.500) * 1.140 * 0.000) + (((1.500 * 1.140) — 0.009) * 3.000) + (1.500 * 1.140 * (0.000 + 0.000 + 0.000))
BFETHOREL . #E = (MFEEIR X JBER) - GR@EEHIEERE X ZEES)) X MFRER + CRERHEFER X BER) X (ETER + {RIBLEE + RBERE + MELEER)
0.900 m3 = ((0.000 * 0.000) — (1.500 * 0.000)) * 0.000 + ((1.500 * 0.200) * (3.000 + 0.000 + 0.000 + 0.000))
7% A5 T ) SASHRHIE R = (GEFIE - FEiE) X BEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RiBER + MELR))

(Eli e H)

0.225 m3 = ((0.000 — 1.500) * 0.050 * 0.000) + (1.500 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000))
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
3.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.354 m3 = 0.275 * 0.430 * (3.000 + 0.000 + 0.000 + 0.000)
LRI . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))
PRARAE A . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE X Bl X SFEEER) + (F@EE X BER) - FmfH) X LTER) + (F@iE X EL X (REBLEE + LR + MELER))
0.158 m3 = ((0.000 - 0.275) * 0.210 * 0.000) + (((0.275 * 0.210) — 0.005) * 3.000) + (0.275 * 0.210 * (0.000 + 0.000 + 0.000))
Ry ) HASHRHIEE = (GURFIE - FEE) X JBEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RIERE + MELER))
(Bl m ) 0.041 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000))
TR 4055 ) BE = BHEIHIE e L E
(S 4 1) 0.041 m3 = 0.041
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
3.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000

AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))

A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.140 m3 = 0.275 * 0.170 * (3.000 + 0.000 + 0.000 + 0.000)
A ) TimsE = ((GFdEE X Eh) - FEfl) X (ELER + MELER)) + (F#lE X Eh X (RELER + RELER))

0.175 m3 = (((0.275 * 0.220) — 0.002) * (3.000 + 0.000)) + (0.275 * 0.220 * (0.000 + 0.000))

AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))

AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))

PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))

FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

0.140 m3 = ((0.000 - 0.275) * 0.170 * 0.000) + (0.275 * 0.170 * (3.000 + 0.000 + 0.000 + 0.000))
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JETES & i B proo#m S 3 H
By 1 SR = (GRTIE - M@EIE) X EA X BFIER) + (R@E X EA X (ETEE + /BER + RIBIER + MEER))
(Bl 2 i 1) 0.041 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000))
s Uy . B = WEmEE e L e
(Bl i 1) 0.041 m3 = 0.041
ety e | Kol = HEIEUE &
(4 1) 0.140 m3 = 0. 140
msE ) ik = mHIgEYE &
(4 ) 0.175 m3 = 0.175
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.620 m3 = 0.275 * 0.410 * (5.500 + 0.000 + 0.000 + 0.000)
LRI . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
PRARAE A . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE X Bl X SFEEER) + (F@EE X BER) - FmfH) X LTER) + (F@iE X EL X (REBLEE + LR + MELER))
0.276 m3 = ((0.000 - 0.275) * 0.190 * 0.000) + (((0.275 * 0.190) — 0.002) * 5.500) + (0.275 * 0.190 * (0.000 + 0.000 + 0.000))
Ry ) HASHRHIEE = (GURFIE - FEE) X JBEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RIERE + MELER))
(Bl m ) 0.075 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (5.500 + 0.000 + 0.000 + 0.000))
TR 4055 ) BE = BHEIHIE e L E
(S 4 1) 0.075 m3 = 0.075
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000

AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.242 m3 = 0.275 * 0.160 * (5.500 + 0.000 + 0.000 + 0.000)
A ) TimsE = ((GFdEE X Eh) - FEfl) X (ELER + MELER)) + (F#lE X Eh X (RELER + RELER))

0.327 m3 = (((0.275 * 0.220) — 0.001) * (5.500 + 0.000)) + (0.275 * 0.220 * (0.000 + 0.000))

AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

0.242 m3 = ((0.000 - 0.275) * 0.160 * 0.000) + (0.275 * 0.160 * (5.500 + 0.000 + 0.000 + 0.000))
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By 1 SR = (GRTIE - M@EIE) X EA X BFIER) + (R@E X EA X (ETEE + /BER + RIBIER + MEER))
(Bl 2 i 1) 0.075 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (5.500 + 0.000 + 0.000 + 0.000))
s Uy . B = WEmEE e L e
(Bl i 1) 0.075 m3 = 0.075
ety e | Kol = HEIEUE &
(4 1) 0.242 m3 = 0. 242
msE ) ik = mHIgEYE &
(4 ) 0.327 m3 = 0.327
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.589 m3 = 0.275 * 0.390 * (5.500 + 0.000 + 0.000 + 0.000)
LRI . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
PRARAE A . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE X Bl X SFEEER) + (F@EE X BER) - FmfH) X LTER) + (F@iE X EL X (REBLEE + LR + MELER))
0.251 m3 = ((0.000 - 0.275) * 0.170 * 0.000) + (((0.275 * 0.170) — 0.001) * 5.500) + (0.275 * 0.170 * (0.000 + 0.000 + 0.000))
Ry ) HASHRHIEE = (GURFIE - FEE) X JBEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RIERE + MELER))
(Bl m ) 0.075 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (5.500 + 0.000 + 0.000 + 0.000))
TR 4055 ) BE = BHEIHIE e L E
(S 4 1) 0.075 m3 = 0.075
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REEEEES 12001700 [ LR ETE]
I#EES 12 IiEEM |[RAREAZAEREIS —+&S 01 =& |[ZOMHE-G-WRREMK
JETES = 7 B (L Hoo K
A T || = L
(B 1) 0.589 m3 = 0.589
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T I B H E & (& B %)
RETEEEES . 12001700 [ 4 #EREE]

IEES 12 IEAHT |RARZIAKRELS —+&S 02 V=& |[EOMTE-G-WRRERE

ZE Je& B oo®% L om0 FH K K

(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000

AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.242 m3 = 0.275 * 0.160 * (5.500 + 0.000 + 0.000 + 0.000)
A ) TimsE = ((GFdEE X Eh) - FEfl) X (ELER + MELER)) + (F#lE X Eh X (RELER + RELER))

0.327 m3 = (((0.275 * 0.220) — 0.001) * (5.500 + 0.000)) + (0.275 * 0.220 * (0.000 + 0.000))

AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

0.242 m3 = ((0.000 - 0.275) * 0.160 * 0.000) + (0.275 * 0.160 * (5.500 + 0.000 + 0.000 + 0.000))
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A EEEES . 12001700 B E]
IE&ES 12 TR |RARBHARELS I—+ES 02 I—baT  |[ZOfTE-G-WRERERE
JETER] J& CLON Y P R S )
Vst WAy ' HImHIECR = (GETRE - FWiE) X B X SPIER) + (FElE X B X (ETER + KMEER + RIMCEE + MELER))
GRS T 0.075 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (5.500 + 0.000 + 0.000 + 0.000))
Vst Wal . okt = SASIHI S LUE LR
GRS TE 0.075 m3 = 0.075
V- mu Ul ) B = EE S R
(i) 0.242 m3 = 0.242
P 4055 e . B = mHIEE R
(Ji i) 0.327 m3 = 0.327
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JEFE ] JE G S R 1| - S SV
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
16.000 m = ((8.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.500) * 0.000)) * 2.000
AR A . B = (HFE - TEE X JBES X SFRER) + (F@iE X B X (ETER + KREER + TR + MEER))
0.400 m3 = ((0.000 — 0.500) * 0.100 * 0.000) + (0.500 * 0.100 * (8.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
3.600 m3 = 0.500 * 0.900 * (8.000 + 0.000 + 0.000 + 0.000)
AR A . o = (TR - FaEE) X #FEER) + (i X (ETER + KRIEERE + TR + fEER))
4.000 m2 = ((0.000 — 0.500) * 0.000) + (0.500 * (8.000 + 0.000 + 0.000 + 0.000))
IRHIE O R L . Bog = ((HEFiIE - SdiE) X BEh X fEFER) + (F@El X B2 X (ETER + /KiTE + TR + MEER))
3.600 m3 = ((0.000 - 0.500) * 0.900 * 0.000) + (0.500 * 0.900 * (8.000 + 0.000 + 0.000 + 0.000))
Ry . BE = BHEIHIE e L E
(2 908 1) 0.400 m3 = 0.400
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JETER] J& 1o S P T | FooOK
S . Fmch = FliE X BEA X (ETIER + KR + RIPLER + ELER)
1.000 m3 = 0.500 * 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
PEHISO R L . Bl = ((EFIE - HEiE) X BA X SFHER) + (F@E X Ei X (RTHER + RIEER +

RIMAERE + METEE))

1.000 m3 = ((0.000 — 0.500) * 1.000 * 0.000) + (0.500 * 1.000 * (2.000 + 0.000 + 0.000 + 0.000))
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RETEEEES - 12001700 [HMRETE]
TIEES 14 IEAH | D100H2AKEILS I—+EE 01 IW—hRF  |[Z0fTE-G-WARETE
JEFE ] JE G S R 1| - S SV
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
9.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
3.577 m3 = 0.750 * 0.530 * (9.000 + 0.000 + 0.000 + 0.000)
ezl ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
4.995 m3 = 0.750 * 0.740 * (9.000 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
6. 750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
6. 750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
6. 750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

3.577 m3 = ((0.000 — 0.750) * 0.530 * 0.000) + (0.750 * 0.530 * (9.000 + 0.000 + 0.000 + 0.000))
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RETEEEES . 12001700 [ 4 #EREE]
I#EES 14 IiEEM |P100AAREIE —+ES 01 W—hBH  |[EOMTHE-G-WAREUE
ZE Je& B oo®% L om0 FH K K
TRHIEO R L ) E = (EFIE - F@iE) X BEZ X #$FRER) + (F@E X JBER) - FEs) X LTMHER) + Rl X ER X (RIELEE + RILER + MEER))
2.079 m3 = ((0.000 - 0.750) * 0.320 * 0.000) + (((0.750 * 0.320) — 0.009) * 9.000) + (0.750 % 0.320 % (0.000 + 0.000 + 0.000))
FIETHORE L . BE = (MFEEFER X ER) - (FEREHIEEE X Z8ER)) X #FHER + (FEEHIEERE X Eh) X (ETER + fR#EEER + LR + MELER)
1.350 m3 = ((0.000 * 0.000) - (0.750 * 0.000)) * 0.000 + ((0.750 * 0.200) * (9.000 + 0.000 + 0.000 + 0.000))
Ry . HACHHIE R = (TR - @) X JEA X #MFRER) + (F@E X JEh X (ETER + KEEE + RiiER + MELR))
(Bl m ) 0.337 m3 = ((0.000 - 0.750) * 0.050 * 0.000) + (0.750 * 0.050 * (9.000 + 0.000 + 0.000 + 0.000))
¥R 4057 . B = HEmEE e L e
(B2 m ) 0.337 m3 = 0.337
Ry ) ¥ = R LE L&
(1) 3.577 m3 = 3.577
54057 ) BE = WHIE2E LA
(1) 4.995 m3 = 4.995
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I#EES 14 IiEEM |P100AAREIE —+ES 02 —bBHR  [E0hTE - G- WA R (H=1300)
ZE Je& B oo®% L om0 FH K K
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
60.000 m = ((60.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.375) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
22.500 m2 = ((0.000 - 0.375) * 0.000) + (0.375 * (60.000 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
11.925 m3 = 0.375 * 0.530 * (60.000 + 0.000 + 0.000 + 0.000)
A ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
16.200 m3 = 0.375 * 0.720 * (60.000 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
22.500 m2 = ((0.000 - 0.375) * 0.000) + (0.375 * (60.000 + 0.000 + 0.000 + 0.000))
AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
22.500 m2 = ((0.000 - 0.375) * 0.000) + (0.375 * (60.000 + 0.000 + 0.000 + 0.000))
PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
22.500 m2 = ((0.000 - 0.375) * 0.000) + (0.375 * (60.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

11.925 m3 = ((0.000 — 0.375) * 0.530 * 0.000) + (0.375 * 0.530 * (60.000 + 0.000 + 0.000 + 0.000))
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RETEEEES . 12001700 [ 4 #EREHE]
I#EES 14 IEAH | D100H2AKEILS —+ES 02 —bBHR  [E0hTE - G- WA R (H=1300)
JETES & i B ) T S SV
R R L , Bl = (TR - Wl X E4 X FRER) + (FEE X JBER) - FEf) X LTIER) + (FEE X B X (RIBIEE + RIIEE + WMEIER))
6.660 m3 = ((0.000 — 0.375) * 0.320 * 0.000) + (((0.375 * 0.320) — 0.009) * 60.000) + (0.375 * 0.320 * (0.000 + 0.000 + 0.000))
BETHDEREL | Bl = ((RFEFEE X ER) - EEEEEEKE X $8ER) X SFRERE + ORRBHEKE X E2) X (ETEE + /IBER + RIWLER + MEER)
4.050 m3 = ((0.000 * 0.000) - (0.375 * 0.000)) * 0.000 + ((0.375 * 0.180) * (60.000 + 0.000 + 0.000 + 0.000))
ety e . SR = (GRTIR - IEIE) X EA X #FER) + (@R X Ei X (ETER + /RIBER + RIWILER + MEER))
(b 2 i 1) 1.125 m3 = ((0.000 - 0.375) * 0.050 * 0.000) + (0.375 * 0.050 * (60.000 + 0.000 + 0.000 + 0.000))
msE ) R - SR LE R
(b i 1) 1.125 m3 = 1.125
ety e | Kbt = K1 UE 1 B
(4 1) 11.925 m3 = 11.925
w0y E ) B = mEIEE R
(4 1) 16.200 m3 = 16. 200
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RETEEEES . 12001700 [ 4 #EREE]
I#EES 14 IiEEM |P100AAREIE —+ES 03 —bBFR  |E0MhTE - G- WA % (H=1500)
ZE Je& B oo®% L om0 FH K K
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
50.000 m = ((50.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.425) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
21.250 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (50.000 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
19.443 m3 = 0.425 * 0.915 % (50.000 + 0.000 + 0.000 + 0.000)
A ) TimsE = ((GFdEE X Eh) - FEfl) X (ELER + MELER)) + (F#lE X Eh X (RELER + RELER))
12.337 m3 = (((0.425 * 0.590) - 0.004) * (50.000 + 0.000)) + (0.425 * 0.590 * (0.000 + 0.000))
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
21.250 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (50.000 + 0.000 + 0.000 + 0.000))
AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
21.250 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (50.000 + 0.000 + 0.000 + 0.000))
PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
21.250 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (50.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

11.262 m3 = ((0.000 — 0.425) * 0.530 * 0.000) + (0.425 * 0.530 * (50.000 + 0.000 + 0.000 + 0.000))
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RETEEEES . 12001700 [ 4 #EREE]
I#EES 14 IiEEM |P100AAREIE —+ES 03 —bBFR  |E0MhTE - G- WA % (H=1500)
ZE Je& B oo®% L om0 FH K K
TRHIEO R L ) E = (EFIE - F@iE) X BEZ X #$FRER) + (F@E X JBER) - FEs) X LTMHER) + Rl X ER X (RIELEE + RILER + MEER))
6.350 m3 = ((0.000 — 0.425) * 0.320 * 0.000) + (((0.425 * 0.320) — 0.009) * 50.000) + (0.425 * 0.320 * (0.000 + 0.000 + 0.000))
FIETHORE L . BE = (MFEEFER X ER) - (FEREHIEEE X Z8ER)) X #FHER + (FEEHIEERE X Eh) X (ETER + fR#EEER + LR + MELER)
1.062 m3 = ((0.000 * 0.000) - (0.425 * 0.000)) * 0.000 + ((0.425 * 0.050) * (50.000 + 0.000 + 0.000 + 0.000))
FETHOREL ) BE = (MFEFER X JBER) - GR@EmiFEm X REEAL)) X SFRER + GR@ERHEFER X ER) X (ETER + {REEE + RBTEE + MELEER)
8.181 m3 = ((0.000 * 0.000) — (0.425 * 0.000)) * 0.000 + ((0.425 * 0.385) * (50.000 + 0.000 + 0.000 + 0.000))
¥R 4057 . HASHEHIEE = (R - TEiE) X JEh X #MFRER) + (FEE X Eh X (ETER + {REEE + RiBER + MELR))
(B2 m ) 1.062 m3 = ((0.000 - 0.425) * 0.050 * 0.000) + (0.425 * 0.050 * (50.000 + 0.000 + 0.000 + 0.000))
Ry ) BE = AAEIEHIE S LR
(Bl m ) 1.062 m3 = 1.062
54057 . BE = WHIE LS L&
(1) 19. 443 m3 = 19. 443
R U ) B = RN 2E L h
(1) 12.337 m3 = 12.337
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TIEES 15 TR |PS0NAKREILSE I—+EE 01 =R |Z0fthTTE - G-WAERE f 5% t=1000
JEFE ] JE G S R 1| - S SV
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.625 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (5.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
0.861 m3 = 0.325 * 0.530 * (5.000 + 0.000 + 0.000 + 0.000)
ezl ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
0.861 m3 = 0.325 * 0.530 * (5.000 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.625 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (5.000 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
1.625 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (5.000 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
1.625 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (5.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

0.861 m3 = ((0.000 — 0.325) * 0.530 * 0.000) + (0.325 * 0.530 * (5.000 + 0.000 + 0.000 + 0.000))
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RETEEEES . 12001700 [ 4 #EREHE]
IBES 15 TEEM |G50NAKXELSE I—rEE 01 —hEH  |ZOfETHIE G- WA E #ia%t=1000
JETES & i B ) T S SV
SRHIHD R L , ik = (GETIR - EdEiE) X Ba X @REER) + ((FHE X E2) - FE) X HTER) + (FliE X Es X (RELE + RELEE + MELER))
0.412 m3 = ((0.000 - 0.325) * 0.260 * 0.000) + (((0.325 * 0.260) — 0.002) * 5.000) + (0.325 % 0.260 % (0.000 + 0.000 + 0.000))
BETHDEREL | Bl = ((RFEFEE X ER) - EEEEEEKE X $8ER) X SFRERE + ORRBHEKE X E2) X (ETEE + /IBER + RIWLER + MEER)
0.081 m3 = ((0.000 * 0.000) - (0.325 * 0.000)) * 0.000 + ((0.325 * 0.050) * (5.000 + 0.000 + 0.000 + 0.000))
ety e . SR = (GRTIR - IEIE) X EA X #FER) + (@R X Ei X (ETER + /RIBER + RIWILER + MEER))
(b 2 i 1) 0.081 m3 = ((0.000 - 0.325) * 0.050 * 0.000) + (0.325 % 0.050 * (5.000 + 0.000 + 0.000 + 0.000))
msE ) R - SR LE R
(b i 1) 0.081 m3 = 0.081
ety e | Kol = HEIEUE &
(4 1) 0.861 m3 = 0.861
w0y E ) B = mEIEE R
(4 1) 0.861 m3 = 0.861
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TIEES 15 TIHEEF |P50HAAREILS I—+EE 02 =R [EESMER-G-WAER B 7 3%t=800
JEFE ] JE G S R 1| - S SV
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
27.000 m = ((27.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
8.775 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (27.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
2.895 m3 = 0.325 * 0.330 * (27.000 + 0.000 + 0.000 + 0.000)
ezl ) WiEEE = (((FEE X BER) - Bl X (ELER + fELER)) + (FEE X BEL X (RELERE + RiEER))
5.676 m3 = (((0.325 * 0.650) — 0.001) * (27.000 + 0.000)) + (0.325 * 0.650 * (0.000 + 0.000))
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
8.775 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (27.000 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
8.775 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (27.000 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
8.775 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (27.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))
2.895 m3 = ((0.000 — 0.325) * 0.330 * 0.000) + (0.325 * 0.330 * (27.000 + 0.000 + 0.000 + 0.000))
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IEES 15 THEAT |GS0HAREISR —+&S 02 —bBFR  [(EESNERR- G- WAL E 7 E%t=800
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TRHIEO R L ) E = (EFIE - F@iE) X BEZ X #$FRER) + (F@E X JBER) - FEs) X LTMHER) + Rl X ER X (RIELEE + RILER + MEER))
2.227 m3 = ((0.000 — 0.325) * 0.260 * 0.000) + (((0.325 * 0.260) — 0.002) * 27.000) + (0.325 * 0.260 * (0.000 + 0.000 + 0.000))
FIETHORE L . BE = (MFEEFER X ER) - (FEREHIEEE X Z8ER)) X #FHER + (FEEHIEERE X Eh) X (ETER + fR#EEER + LR + MELER)
1.491 m3 = ((0.000 * 0.000) — (0.325 * 0.000)) * 0.000 + ((0.325 * 0.170) * (27.000 + 0.000 + 0.000 + 0.000))
Ry . HACHHIE R = (TR - @) X JEA X #MFRER) + (F@E X JEh X (ETER + KEEE + RiiER + MELR))
(Bl m ) 0.438 m3 = ((0.000 — 0.325) * 0.050 % 0.000) + (0.325 % 0.050 * (27.000 + 0.000 + 0.000 + 0.000))
¥R 4057 . B = HEmEE e L e
(B2 m ) 0.438 m3 = 0.438
Ry ) ¥ = R LE L&
(1) 2.895 m3 = 2.895
54057 ) BE = WHIE2E LA
(1) 5.676 m3 = 5.676
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RETEEEES - 12001700 [HMRETE]

TIEES 16 TR |[HEEIS I—+EE 01 =R |Z0fthTTE - G-WAERE f 5% t=1000

JEFE ] JE G S R 1| - S SV

(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
38.000 m = ((38.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) * 0.000)) * 1.000

AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
10.450 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (38.000 + 0.000 + 0.000 + 0.000))

ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
5.538 m3 = 0.275 * 0.530 * (38.000 + 0.000 + 0.000 + 0.000)
ezl ) WiEH R = TEE X B X (ELER + RIELERE + HEEEE + MEER)

5.434 m3 = 0.275 * 0.520 * (38.000 + 0.000 + 0.000 + 0.000)

AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
10. 450 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (38.000 + 0.000 + 0.000 + 0.000))

HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
10. 450 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (38.000 + 0.000 + 0.000 + 0.000))

AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
10. 450 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (38.000 + 0.000 + 0.000 + 0.000))

FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

5.538 m3 = ((0.000 — 0.275) * 0.530 * 0.000) + (0.275 * 0.530 * (38.000 + 0.000 + 0.000 + 0.000))
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RETEEEES . 12001700 [ L4 E]
TIEES 16 TR |[HEEIS —+ES 01 =R |Z0fthTTE - G-WAERE f 5% t=1000
JETE R & i B ) T S SV
R R L ) Bl = (TR - Wl X E4 X FRER) + (FEE X JBER) - FEf) X LTIER) + (FEE X B X (RIBIEE + RIIEE + WMEIER))
3.097 m3 = ((0.000 — 0.275) * 0.300 * 0.000) + (((0.275 * 0.300) — 0.001) * 38.000) + (0.275 * 0.300 * (0.000 + 0.000 + 0.000))
Ay 8 ) R EIROR = (EFIE - EIE) X E4h X SEFHEER) + HEIE X EA X (ETEE + KEIEE + RELEE + MELER))
(il 4 1)) 0.522 m3 = ((0.000 - 0.275) * 0.050 % 0.000) + (0.275 * 0.050 * (38.000 + 0.000 + 0.000 + 0.000))
Ay E | Bk = SHASIREIE UE 1 B
(A1) 0.522 m3 = 0.522
sy )E ) Mol = B UE &
(1) 5.538 m3 = 5.538
Ay e ) Kokt = A 20 1 R
() 5.434 m3 = 5.434
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RETEEEES - 12001700 [HMRETE]

TIEES 16 TR |[HEEIS I—+EE 02 =R [EESMER-G-WAER B 7 3%t=800

JEFE ] JE G S R 1| - S SV

(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
2.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) * 0.000)) * 1.000

AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
0.550 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (2.000 + 0.000 + 0.000 + 0.000))

ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
0.181 m3 = 0.275 * 0.330 * (2.000 + 0.000 + 0.000 + 0.000)
ezl ) WiEH R = TEE X B X (ELER + RIELERE + HEEEE + MEER)

0.286 m3 = 0.275 * 0.520 * (2.000 + 0.000 + 0.000 + 0.000)

AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
0.550 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (2.000 + 0.000 + 0.000 + 0.000))

HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
0.550 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (2.000 + 0.000 + 0.000 + 0.000))

AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
0.550 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (2.000 + 0.000 + 0.000 + 0.000))

FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

0.181 m3 = ((0.000 — 0.275) * 0.330 * 0.000) + (0.275 * 0.330 * (2.000 + 0.000 + 0.000 + 0.000))
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T I B H E & (& B %)
RETEEEES . 12001700 [ 4 #EREHE]
TIEES 16 TR |[HEEIS —+ES 02 —bBFR  [(EESNERR- G- WAL E 7 E%t=800
JETES & i B ) T S SV
SRHIHD R L ) ik = (GETIR - EdEiE) X Ba X @REER) + ((FHE X E2) - FE) X HTER) + (FliE X Es X (RELE + RELEE + MELER))
0.163 m3 = ((0.000 - 0.275) * 0.300 * 0.000) + (((0.275 % 0.300) — 0.001) * 2.000) + (0.275 % 0.300 % (0.000 + 0.000 + 0.000))
®AyE : S EECR = (GRTIR - EIE) X EA X #FEER) + (@R X EA X (ETERE + /RIWLER + RIWILER + MEER))
(Bl i 1) 0.027 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000))
ety e | R = BEEEEE UE H &
(b 2 i 1) 0.027 m3 = 0.027
msE : ik = EHIEUE H R
(4 ) 0.181 m3 = 0. 181
ety e ) Foik = fRHIg2E i
(4 1) 0.286 m3 = 0.286
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REEEEES 12001700 [ LR ETE]
I#EES 16 T |HfeEIx —+&S 03 =B |Rith(Con) #AKELIE (G-W)
JETES & i o% L om0 F Hoo K
i 1) WM R = HEIE X BR X (ETER + RER + RIBEE + MEER)

4,500 m3 = 0.500 * 1.000 * (9.000 + 0.000 + 0.000 + 0.000)

EEEIE IR B = (TR - FdEE) X JEL X BFRER) + (BdiE X B2 X (ETER + fiER + RiEE + MEER))

0.450 m3 = ((0.000 - 0.500) * 0.100 * 0.000) + (0.500 * 0.100 * (9.000 + 0.000 + 0.000 + 0.000))

AR IR Bl = (GETFIE - ) X $FER) + (Fal X (ETER + /TR + RIERE + MEEER))

4,500 m2 = ((0.000 - 0.500) * 0.000) + (0.500 * (9.000 + 0.000 + 0.000 + 0.000))

EHD R L B = (TR - HdEmE) X JEL X SFRER) + (((FEE X JE2) - FEd) X £TER) + (FliE X EA X (RifER + Rtk + MEER))

fEn

3.366 m3 = ((0.000 — 0.500) * 0.750 * 0.000) + (((0.500 * 0.750) — 0.001) * 9.000) + (0.500 * 0.750 * (0.000 + 0.000 + 0.000))

PRy E g = WEEUE LR

( HD 4.500 m3 = 4.500
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RETEEEES

12001700 [ 4% 5HE]

L]

( 8 &8 % )

IEES

16

TR |#th

I—HES

Rih Gz A1) #HKETE (G-W)

JEFE

J&

Bl

]

g E = g

(ETHIER + RIBLER +

AT R + RIER)

0. 600 m3 = 0.500

* 0.300 * (4.000 + 0.000 + 0.000 + 0.000)

Ll

3

il

YRR = Wl

(ETHER + KRR +

RAMIER + WELER)

1. 400 m3 = 0.500

* 0.700 * (4.000 + 0.000 + 0.000 + 0.000)

EHISO R L

B = (GETFIE -

X HEH X MFHEE) + MF@E X EH X (ETEE + KIEE +

AT + EER))

0.600 m3 = ((0.000 — 0.500) * 0.300 * 0.000) + (0.500 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000))

EHI O R L

Bl = (T - @

X JEH X fEFER) + (G

X JEH) - FEE) X ETHER) + (s

AL R + MEER))

1.396 m3 = ((0.000 — 0.500) * 0.700 * 0.000) + (((0.500 * 0.700) — 0.001) * 4.000) + (0.500 * 0.700 * (0.000 + 0.000 + 0.000))

V- mu Ul

¥ = WEE2E

(HH1D

1.400 m3 = 1.400
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I#EES 17 TIiHEEM | P50RBKEREIRD —+ES 01 W—hBH  |EOfhE-G-WREREUE
ZE Je& B oo®% L om0 FH K K
(el . #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
4.500 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((0.000 = 0.750) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
3.375 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
sz . WdR = WdiE X EH X (ETHER + REER + RIBER + MELER)
4.826 m3 = 0.750 % 1.430 * (4.500 + 0.000 + 0.000 + 0.000)
LRI . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
3.375 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
PRARAE A . #E = (EFE - F@E) X MFEEER) + (FdE X (ETER + KR + RiBER + MELR))
3.375 m2 = ((0.000 - 0.750) * 0.000) + (0.750 * (4.500 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE X Bl X SFEEER) + (F@EE X BER) - FmfH) X LTER) + (F@iE X EL X (REBLEE + LR + MELER))
3.399 m3 = ((0.000 - 0.750) * 1.010 * 0.000) + (((0.750 * 1.010) — 0.002) * 4.500) + (0.750 * 1.010 * (0.000 + 0.000 + 0.000))
BFETHOREL . #E = (MFEEIR X JBER) - GR@EEHIEERE X ZEES)) X MFRER + CRERHEFER X BER) X (ETER + {RIBLEE + RBERE + MELEER)
0.675 m3 = ((0.000 * 0.000) — (0.750 * 0.000)) * 0.000 + ((0.750 * 0.200) * (4.500 + 0.000 + 0.000 + 0.000))
7% A5 T ) SASHRHIE R = (GEFIE - FEiE) X BEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RiBER + MELR))

(Eli e H)

0.168 m3 = ((0.000 — 0.750) * 0.050 * 0.000) + (0.750 * 0.050 * (4.500 + 0.000 + 0.000 + 0.000))
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TIEES 17 TIiHEEM | P50RBKEREIRD —+ES 01 W—hBH  |EOfhE-G-WREREUE
JETE R & i B Lo Bl RV
Ry e 1 Ko = BAEREIE UE LR
(Bl 2 i 1) 0.168 m3 = 0.168
Ay e ) ik = EHIEUE H R
(i 1) 4.826 m3 = 4.826
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RETEEEES . 12001700 [ 4 #EREE]
IEES 17 IREAH | P50REBKEABEIZD —+&S 02 V=& |[EOMTE-G-WRREMR
ZE =] B oo®% L om0 FH K K
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
3.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.354 m3 = 0.275 * 0.430 * (3.000 + 0.000 + 0.000 + 0.000)
LRI . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))
PRARAE A . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE X Bl X SFEEER) + (F@EE X BER) - FmfH) X LTER) + (F@iE X EL X (REBLEE + LR + MELER))
0.167 m3 = ((0.000 - 0.275) * 0.210 * 0.000) + (((0.275 * 0.210) — 0.002) * 3.000) + (0.275 * 0.210 * (0.000 + 0.000 + 0.000))
Ry ) HASHRHIEE = (GURFIE - FEE) X JBEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RIERE + MELER))
(Bl m ) 0.041 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000))
TR 4055 ) BE = BHEIHIE e L E
(S 4 1) 0.041 m3 = 0.041
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VR Ul : Bl = WEIE S LR
(4 1) 0.354 m3 = 0.354

BT 2 KB )R




T I B H E & (& B %)
RETEEEES . 12001700 [ 4 #EREE]

I#EES 17 TIiHEEM | P50RBKEREIRD —+ES 03 W—hBH  [E0fhhE-G-WIRERERE

ZE Je& B oo®% L om0 FH K K

(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
3.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000

AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))

A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.140 m3 = 0.275 * 0.170 * (3.000 + 0.000 + 0.000 + 0.000)
A ) TimsE = ((GFdEE X Eh) - FEfl) X (ELER + MELER)) + (F#lE X Eh X (RELER + RELER))

0.175 m3 = (((0.275 * 0.220) — 0.002) * (3.000 + 0.000)) + (0.275 * 0.220 * (0.000 + 0.000))

AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))

AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))

PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
0.825 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (3.000 + 0.000 + 0.000 + 0.000))

FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

0.140 m3 = ((0.000 - 0.275) * 0.170 * 0.000) + (0.275 * 0.170 * (3.000 + 0.000 + 0.000 + 0.000))
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RETEEEES . 12001700 [ L4 E]
TIEES 17 TIiHEEM | P50RBKEREIRD —+ES 03 W—hBH  [E0fhhE-G-WIRERERE
JETE R & i B ) T S SV
iy )E 1 WEEEIRORE = (ETIE - S8IE) X T4 X EFEER) + QHEIE X EA X (ELEE + RIEE + RIELEE + MELR))
(il 4 1)) 0.041 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000))
®AyE | Bk = SR U R
(il 4 1)) 0.041 m3 = 0.041
Ay E | Kbt = K1 UE 1 B
() 0.140 m3 = 0.140
sy )E ) Mo = mEIEE &
(1) 0.175 m3 = 0.175
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RETEEEES . 12001700 [ 4 #EREE]
I#EES 18 TIHEEM | P50RBKEREIRQ —+ES 01 W—hBH  |E0fTHE G- WIRERE R
ZE Je& B oo®% L om0 FH K K
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.620 m3 = 0.275 * 0.410 * (5.500 + 0.000 + 0.000 + 0.000)
LRI . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
PRARAE A . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE X Bl X SFEEER) + (F@EE X BER) - FmfH) X LTER) + (F@iE X EL X (REBLEE + LR + MELER))
0.276 m3 = ((0.000 - 0.275) * 0.190 * 0.000) + (((0.275 * 0.190) — 0.002) * 5.500) + (0.275 * 0.190 * (0.000 + 0.000 + 0.000))
Ry ) HASHRHIEE = (GURFIE - FEE) X JBEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RIERE + MELER))
(Bl m ) 0.075 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (5.500 + 0.000 + 0.000 + 0.000))
TR 4055 ) BE = BHEIHIE e L E
(S 4 1) 0.075 m3 = 0.075
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I#EES 18 TIHEEM | P50RBKEREIRQ —+ES 02 W—hBH  [E0fhhE-G-WIRERERE

ZE Je& B oo®% L om0 FH K K

(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000

AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.242 m3 = 0.275 * 0.160 * (5.500 + 0.000 + 0.000 + 0.000)
A ) TimsE = ((GFdEE X Eh) - FEfl) X (ELER + MELER)) + (F#lE X Eh X (RELER + RELER))

0.327 m3 = (((0.275 * 0.220) — 0.001) * (5.500 + 0.000)) + (0.275 * 0.220 * (0.000 + 0.000))

AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))

FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

0.242 m3 = ((0.000 - 0.275) * 0.160 * 0.000) + (0.275 * 0.160 * (5.500 + 0.000 + 0.000 + 0.000))
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iy )E 1 WEEEIRORE = (ETIE - S8IE) X T4 X EFEER) + QHEIE X EA X (ELEE + RIEE + RIELEE + MELR))
(il 4 1)) 0.075 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (5.500 + 0.000 + 0.000 + 0.000))
®AyE | Bk = SR U R
(il 4 1)) 0.075 m3 = 0.075
Ay E | Kbt = K1 UE 1 B
() 0.242 m3 = 0.242
sy )E ) Mo = mEIEE &
(1) 0.327 m3 = 0.327
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) s* 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
0.589 m3 = 0.275 * 0.390 * (5.500 + 0.000 + 0.000 + 0.000)
LRI . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
PRARAE A . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
IRHIE O R L . HE = (WFE - FiEE) X BES X SFEER) + (FliE X B X (ETER + KREER + TR + MELER))
0.257 m3 = ((0.000 - 0.275) * 0.170 * 0.000) + (0.275 * 0.170 * (5.500 + 0.000 + 0.000 + 0.000))
Ry ) HASHRHIEE = (GURFIE - FEE) X JBEA X MFRER) + (FEE X Eh X (ETER + KRIEBLEE + RIERE + MELER))
(Bl m ) 0.075 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (5.500 + 0.000 + 0.000 + 0.000))
TR 4055 ) BE = BHEIHIE e L E
(S 4 1) 0.075 m3 = 0.075
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
5.500 m = ((5.500 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
0.242 m3 = 0.275 * 0.160 * (5.500 + 0.000 + 0.000 + 0.000)
ezl ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
0.332 m3 = 0.275 * 0.220 * (5.500 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
1.512 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
1.512 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (5.500 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

0.242 m3 = ((0.000 — 0.275) * 0.160 * 0.000) + (0.275 * 0.160 * (5.500 + 0.000 + 0.000 + 0.000))
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Vst WAy ' HImHIECR = (GETRE - FWiE) X B X SPIER) + (FElE X B X (ETER + KMEER + RIMCEE + MELER))
GRS T 0.075 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (5.500 + 0.000 + 0.000 + 0.000))
Vst Wal . okt = SASIHI S LUE LR
GRS TE 0.075 m3 = 0.075
V- mu Ul ) B = EE S R
(i) 0.242 m3 = 0.242
P 4055 e . B = mHIEE R
(Ji i) 0.332 m3 = 0.332
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L& Gl 1 B = ((ETHER + REVIER + REIER + MELER) + (GEFRANE - SHBmARE) X EFREDTE)) X WkmEL
7.000 m = ((3.500 + 0.000 + 0.000 + 0.000) + ((0.550 — 0.550) * 0.000)) * 2.000
i . i = WEE X (ETER + REIER + REER + MEILER)
1.925 m2 = 0.550 * (3.500 + 0.000 + 0.000 + 0.000)
Sl . KE = mElE X JEA X (ETIER + RER + SURIER + WMEER)
0.712 m3 = 0.550 * 0.370 * (3.500 + 0.000 + 0.000 + 0.000)
MR . i = WENE X (ETER + REIER + RIRER + MEILER)
1.925 m2 = 0.550 * (3.500 + 0.000 + 0.000 + 0.000)
AR IR . KE = AR X (ETIER + RER + URER + MEER)
1.925 m2 = 0.550 * (3.500 + 0.000 + 0.000 + 0.000)
PRHIED R L . Bl = MHIE X A X (ELIER + REER + RELER + EER)
0.288 m3 = 0.550 * 0.150 * (3.500 + 0.000 + 0.000 + 0.000)
Vs LAy ) I HIECR = EDE X EA X (RIER + RFER + TR + MELER)
(b e i 1) 0.096 m3 = 0.550 * 0.050 * (3.500 + 0.000 + 0.000 + 0.000)
FAL3 e ) Kol = GARIRHIE e LR
(il e i 1) 0.096 m3 = 0.096
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L& Gl 1 B = ((ETHER + REVIER + REIER + MELER) + (GEFRANE - SHBmARE) X EFREDTE)) X WkmEL
7.000 m = ((3.500 + 0.000 + 0.000 + 0.000) + ((0.550 — 0.550) * 0.000)) * 2.000
i . i = WEE X (ETER + REIER + REER + MEILER)
1.925 m2 = 0.550 * (3.500 + 0.000 + 0.000 + 0.000)
Sl . KE = mElE X JEA X (ETIER + RER + SURIER + WMEER)
0.269 m3 = 0.550 * 0.140 * (3.500 + 0.000 + 0.000 + 0.000)
Al . Bl = HHIE X JEA X (ETIER + RiEER + RIEER + EER)
0.423 m3 = 0.550 * 0.220 * (3.500 + 0.000 + 0.000 + 0.000)
AR IR . KE = AR X (ETIER + RER + URER + MEER)
1.925 m2 = 0.550 * (3.500 + 0.000 + 0.000 + 0.000)
FEARIE IR . Bl = WHNE X (B IER + RIEIER + RIEEER + MELER)
1.925 m2 = 0.550 * (3.500 + 0.000 + 0.000 + 0.000)
AR IR ) B = AR X (ETIER + REEER + RIRER + MEER)
1.925 m2 = 0.550 * (3.500 + 0.000 + 0.000 + 0.000)
PHIED R L . Bl = WHNE X EA X (BTIER + RIBIER + REEE + MEIER)

0.269 m3 = 0

.550 * 0.140 * (3.500 + 0.000 + 0.000 + 0.000)
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VR Ul SRR AIEOR = JEEIE X JEA X (ETER + RELERE + RELER + MEER)

(Sl 2w El)

0.096 m3 = 0.550 * 0.050 * (3.500 + 0.000 + 0.000 + 0.000)

¥R . foE = R U LR
(il e 41 F1) 0.096 m3 = 0.096
PRy E ) PR = WmHIE g LR
(JHD) 0.269 m3 = 0.269
V- mu Ul . HE = WHEE L&
(4 H1D 0.423 m3 = 0.423
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
20.000 m = ((10.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.500) * 0.000)) * 2.000
AR A . B = (HFE - TEE X JBES X SFRER) + (F@iE X B X (ETER + KREER + TR + MEER))
0.500 m3 = ((0.000 — 0.500) * 0.100 * 0.000) + (0.500 * 0.100 % (10.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
4.500 m3 = 0.500 * 0.900 * (10.000 + 0.000 + 0.000 + 0.000)
AR A . B = (FE - TEE X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
5.000 m2 = ((0.000 — 0.500) * 0.000) + (0.500 * (10.000 + 0.000 + 0.000 + 0.000))
IRHIE O R L . Bog = ((HEFiIE - SdiE) X BEh X fEFER) + (F@El X B2 X (ETER + /KiTE + TR + MEER))
4.500 m3 = ((0.000 — 0.500) * 0.900 * 0.000) + (0.500 * 0.900 * (10.000 + 0.000 + 0.000 + 0.000))
Ry . BE = BHEIHIE e L E
(2 908 1) 0.500 m3 = 0.500
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il 1 YRR = WEIE X EH X (ETER + RIEER + RIBLEE + MBER)
2.000 m3 = 0.500 * 1.000 * (4.000 + 0.000 + 0.000 + 0.000)
HEHIHED B L : B = (TR - WiEE) X Ea X @FMER) + F@E X Ex X (ETERE + /IER + RIEE + MEER))
2.000 m3 = ((0.000 - 0.500) * 1.000 * 0.000) + (0.500 * 1.000 * (4.000 + 0.000 + 0.000 + 0.000))
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 1.500) * 0.000)) * 2.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
4.500 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
2.385 m3 = 1.500 * 0.530 * (3.000 + 0.000 + 0.000 + 0.000)
ezl ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
3.330 m3 = 1.500 * 0.740 * (3.000 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
4.500 m2 = ((0.000 - 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
4.500 m2 = ((0.000 — 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
4.500 m2 = ((0.000 - 1.500) * 0.000) + (1.500 * (3.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

2.385 m3 = ((0.000 — 1.500) * 0.530 * 0.000) + (1.500 * 0.530 * (3.000 + 0.000 + 0.000 + 0.000))
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TRHIEO R L ) E = (EFIE - F@iE) X BEZ X #$FRER) + (F@E X JBER) - FEs) X LTMHER) + Rl X ER X (RIELEE + RILER + MEER))
1.407 m3 = ((0.000 = 1.500) * 0.320 * 0.000) + (((1.500 * 0.320) - 0.011) * 3.000) + (1.500 * 0.320 * (0.000 + 0.000 + 0.000))
FIETHORE L . BE = (MFEEFER X ER) - (FEREHIEEE X Z8ER)) X #FHER + (FEEHIEERE X Eh) X (ETER + fR#EEER + LR + MELER)
0.900 m3 = ((0.000 * 0.000) — (1.500 * 0.000)) * 0.000 + ((1.500 * 0.200) * (3.000 + 0.000 + 0.000 + 0.000))
Ry . HACHHIE R = (TR - @) X JEA X #MFRER) + (F@E X JEh X (ETER + KEEE + RiiER + MELR))
(Bl m ) 0.225 m3 = ((0.000 - 1.500) * 0.050 * 0.000) + (1.500 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000))
¥R 4057 . B = HEmEE e L e
(B2 m ) 0.225 m3 = 0.225
Ry ) ¥ = R LE L&
(1) 2.385 m3 = 2.385
54057 ) BE = WHIE2E LA
(1) 3.330 m3 = 3.330
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e 1 Kt = ((BTHEE + /I VIEE + RIBEE + MEEE) + (EFEAIE - @\ X RFRETE) X SIMEK
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.550 — 0.550) * 4.000)) * 2.000
gl | Bl = EEE X (ELEE + AHIER + RIBLEE + MELER)
1.650 m2 = 0.550 * (3.000 + 0.000 + 0.000 + 0.000)
fig X OB = fHlE X EA X (RTIER + RAEEE + REEE + MEIER)
0.874 m3 = 0.550 * 0.530 * (3.000 + 0.000 + 0.000 + 0.000)
fiE ) Bk = HHIE X EA X (ETEE + RIERE + RIEE + MEERE)
0.973 m3 = 0.550 * 0.590 * (3.000 + 0.000 + 0.000 + 0.000)
A IR X OB = HIE X (ETIER + MBEE « MIER + WMEER)
1.650 m2 = 0.550 * (3.000 + 0.000 + 0.000 + 0.000)
AR IR | Bk = EEE X (ELEE + /EIER + RIBLE + MELR)
1.650 m2 = 0.550 * (3.000 + 0.000 + 0.000 + 0.000)
FEARAE IF ) Kot = WEE X (ETER + /IR + RIER + MEER)
1.650 m2 = 0.550 * (3.000 + 0.000 + 0.000 + 0.000)
R R L | Bk = WHIE X EA X (ELEE + TR + RIEE + MEEE)

0.874 m3 = 0

.550 * 0.530 * (3.000 + 0.000 + 0.000 + 0.000)
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0.495 m3 = ((0.550 * 0.320 — 0.011) * 3.000) + (0.550 * 0.320 * (0.000 + 0.000 + 0.000))
BETHDEREL | Bl = ((RFEFEE X ER) - EEEEEEKE X $8ER) X SFRERE + ORRBHEKE X E2) X (ETEE + /IBER + RIWLER + MEER)
0.082 m3 = ((0.550 * 0.000) — (0.550 * 0.000)) * 0.000 + ((0.550 * 0.050) * (3.000 + 0.000 + 0.000 + 0.000))
ety e . AR EIECR = IHIE X R X (ETEE + REE + RIEE - WEEE)
(b 2 i 1) 0.082 m3 = 0.550 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
msE ) R - SR LE R
(b i 1) 0.082 m3 = 0.082
ety e | Kbt = K1 UE 1 B
(4 1) 0.874 m3 = 0.874
w0y E ) B = mEIEE R
(4 1) 0.973 m3 = 0.973
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(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
9.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.750) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
6.750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
3.577 m3 = 0.750 * 0.530 * (9.000 + 0.000 + 0.000 + 0.000)
ezl ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
4.995 m3 = 0.750 * 0.740 * (9.000 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
6. 750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
6. 750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
6. 750 m2 = ((0.000 — 0.750) * 0.000) + (0.750 * (9.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

3.577 m3 = ((0.000 — 0.750) * 0.530 * 0.000) + (0.750 * 0.530 * (9.000 + 0.000 + 0.000 + 0.000))
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TRHIEO R L ) E = (EFIE - F@iE) X BEZ X #$FRER) + (F@E X JBER) - FEs) X LTMHER) + Rl X ER X (RIELEE + RILER + MEER))
2.061 m3 = ((0.000 - 0.750) * 0.320 * 0.000) + (((0.750 * 0.320) — 0.011) * 9.000) + (0.750 * 0.320 % (0.000 + 0.000 + 0.000))
FIETHORE L . BE = (MFEEFER X ER) - (FEREHIEEE X Z8ER)) X #FHER + (FEEHIEERE X Eh) X (ETER + fR#EEER + LR + MELER)
1.350 m3 = ((0.000 * 0.000) - (0.750 * 0.000)) * 0.000 + ((0.750 * 0.200) * (9.000 + 0.000 + 0.000 + 0.000))
Ry . HACHHIE R = (TR - @) X JEA X #MFRER) + (F@E X JEh X (ETER + KEEE + RiiER + MELR))
(Bl m ) 0.337 m3 = ((0.000 - 0.750) * 0.050 * 0.000) + (0.750 * 0.050 * (9.000 + 0.000 + 0.000 + 0.000))
¥R 4057 . B = HEmEE e L e
(B2 m ) 0.337 m3 = 0.337
Ry ) ¥ = R LE L&
(1) 3.577 m3 = 3.577
54057 ) BE = WHIE2E LA
(1) 4.995 m3 = 4.995
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RETEEEES . 12001700 [ 4 #EREE]
I#EES 21 TIiEEM |P100KEXRELS —+ES 04 —bBHR  [E0hTE - G- WA R (H=1300)
ZE Je& B oo®% L om0 FH K K
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
60.000 m = ((60.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.375) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
22.500 m2 = ((0.000 - 0.375) * 0.000) + (0.375 * (60.000 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
11.925 m3 = 0.375 * 0.530 * (60.000 + 0.000 + 0.000 + 0.000)
A ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
16.200 m3 = 0.375 * 0.720 * (60.000 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
22.500 m2 = ((0.000 - 0.375) * 0.000) + (0.375 * (60.000 + 0.000 + 0.000 + 0.000))
AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
22.500 m2 = ((0.000 - 0.375) * 0.000) + (0.375 * (60.000 + 0.000 + 0.000 + 0.000))
PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
22.500 m2 = ((0.000 - 0.375) * 0.000) + (0.375 * (60.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

11.925 m3 = ((0.000 — 0.375) * 0.530 * 0.000) + (0.375 * 0.530 * (60.000 + 0.000 + 0.000 + 0.000))
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JETES & i B ) T S SV
R R L , Bl = (TR - Wl X E4 X FRER) + (FEE X JBER) - FEf) X LTIER) + (FEE X B X (RIBIEE + RIIEE + WMEIER))
6.540 m3 = ((0.000 — 0.375) * 0.320 * 0.000) + (((0.375 * 0.320) — 0.011) * 60.000) + (0.375 * 0.320 * (0.000 + 0.000 + 0.000))
BETHDEREL | Bl = ((RFEFEE X ER) - EEEEEEKE X $8ER) X SFRERE + ORRBHEKE X E2) X (ETEE + /IBER + RIWLER + MEER)
4.050 m3 = ((0.000 * 0.000) - (0.375 * 0.000)) * 0.000 + ((0.375 * 0.180) * (60.000 + 0.000 + 0.000 + 0.000))
ety e | SR = (GRTIR - IEIE) X EA X #FER) + (@R X Ei X (ETER + /RIBER + RIWILER + MEER))
(b 2 i 1) 1.125 m3 = ((0.000 - 0.375) * 0.050 * 0.000) + (0.375 * 0.050 * (60.000 + 0.000 + 0.000 + 0.000))
msE ) Bk = SR U R
(b i 1) 1.125 m3 = 1.125
ety e | Kbt = K1 UE 1 B
(4 1) 11.925 m3 = 11.925
w0y E ) B = mEIEE R
(4 1) 16.200 m3 = 16. 200
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RETEEEES . 12001700 [ 4 #EREE]
I#EES 21 TIiEEM |P100KEXRELS —+ES 05 —bBFR  |E0MhTE - G- WA % (H=1500)
ZE Je& B oo®% L om0 FH K K
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
50.000 m = ((50.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.425) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
21.250 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (50.000 + 0.000 + 0.000 + 0.000))
A ) TR = TR X JBER X (ETER + KRIETEE + TR + MEER)
19.443 m3 = 0.425 * 0.915 % (50.000 + 0.000 + 0.000 + 0.000)
A ) TimsE = ((GFdEE X Eh) - FEfl) X (ELER + MELER)) + (F#lE X Eh X (RELER + RELER))
12.437 m3 = (((0.425 * 0.590) - 0.002) * (50.000 + 0.000)) + (0.425 * 0.590 * (0.000 + 0.000))
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
21.250 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (50.000 + 0.000 + 0.000 + 0.000))
AR IH . HE = (WFE - FiEE) X MFEEER) + (F@E X (ETER + KRiETER + TR + MELER))
21.250 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (50.000 + 0.000 + 0.000 + 0.000))
PRARAE A ) #E = (EFIE - F@iE) X MFEER) + (FdE X (ETER + KRIEEE + TR + MELR))
21.250 m2 = ((0.000 — 0.425) * 0.000) + (0.425 * (50.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . BE = (WFE - FiEE) X BES X SFEEER) + (FliE X B X (ETER + KREER + TR + MELER))

11.262 m3 = ((0.000 — 0.425) * 0.530 * 0.000) + (0.425 * 0.530 * (50.000 + 0.000 + 0.000 + 0.000))
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RETEEEES . 12001700 [ 4 #EREE]
I#EES 21 TIiEEM |P100KEXRELS —+ES 05 —bBFR  |E0MhTE - G- WA % (H=1500)
ZE Je& B oo®% L om0 FH K K
TRHIEO R L ) E = (EFIE - F@iE) X BEZ X #$FRER) + (F@E X JBER) - FEs) X LTMHER) + Rl X ER X (RIELEE + RILER + MEER))
6.350 m3 = ((0.000 — 0.425) * 0.320 * 0.000) + (((0.425 * 0.320) — 0.009) * 50.000) + (0.425 * 0.320 * (0.000 + 0.000 + 0.000))
FIETHORE L . BE = (MFEEFER X ER) - (FEREHIEEE X Z8ER)) X #FHER + (FEEHIEERE X Eh) X (ETER + fR#EEER + LR + MELER)
1.062 m3 = ((0.000 * 0.000) - (0.425 * 0.000)) * 0.000 + ((0.425 * 0.050) * (50.000 + 0.000 + 0.000 + 0.000))
FETHOREL ) BE = (MFEFER X JBER) - GR@EmiFEm X REEAL)) X SFRER + GR@ERHEFER X ER) X (ETER + {REEE + RBTEE + MELEER)
8.181 m3 = ((0.000 * 0.000) — (0.425 * 0.000)) * 0.000 + ((0.425 * 0.385) * (50.000 + 0.000 + 0.000 + 0.000))
¥R 4057 . HASHEHIEE = (R - TEiE) X JEh X #MFRER) + (FEE X Eh X (ETER + {REEE + RiBER + MELR))
(B2 m ) 1.062 m3 = ((0.000 — 0.425) * 0.050 * 0.000) + (0.425 * 0.050 * (50.000 + 0.000 + 0.000 + 0.000))
Ry ) BE = AAEIEHIE S LR
(Bl m ) 1.062 m3 = 1.062
54057 . BE = WHIE LS L&
(1) 19. 443 m3 = 19. 443
R U ) B = RN 2E L h
(1) 12.437 m3 = 12.437
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RETEEEES - 12001700 [HMRETE]
TIEES 22 IFEAH |P50KkEAETLS I—+EE 01 =R |Z0fthTTE - G-WAERE f 5% t=1000
JEFE ] JE G S R 1| - S SV
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
3.700 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 4.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.625 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (5.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
0.861 m3 = 0.325 * 0.530 * (5.000 + 0.000 + 0.000 + 0.000)
ezl ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
0.861 m3 = 0.325 * 0.530 * (5.000 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.625 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (5.000 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
1.625 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (5.000 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
1.625 m2 = ((0.000 - 0.325) * 0.000) + (0.325 * (5.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

0.861 m3 = ((0.000 — 0.325) * 0.530 * 0.000) + (0.325 * 0.530 * (5.000 + 0.000 + 0.000 + 0.000))
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IBES 22 THEA |O50KERELE I—rEE 01 —hEH  |ZOfETHIE G- WA E #ia%t=1000
JETES & i B ) T S SV
SRHIHD R L , ik = (GETIR - EdEiE) X Ba X @REER) + ((FHE X E2) - FE) X HTER) + (FliE X Es X (RELE + RELEE + MELER))
0.412 m3 = ((0.000 - 0.325) * 0.260 * 0.000) + (((0.325 * 0.260) — 0.002) * 5.000) + (0.325 % 0.260 % (0.000 + 0.000 + 0.000))
BETHDEREL | Bl = ((RFEFEE X ER) - EEEEEEKE X $8ER) X SFRERE + ORRBHEKE X E2) X (ETEE + /IBER + RIWLER + MEER)
0.081 m3 = ((0.000 * 0.000) - (0.325 * 0.000)) * 0.000 + ((0.325 * 0.050) * (5.000 + 0.000 + 0.000 + 0.000))
ety e . SR = (GRTIR - IEIE) X EA X #FER) + (@R X Ei X (ETER + /RIBER + RIWILER + MEER))
(b 2 i 1) 0.081 m3 = ((0.000 - 0.325) * 0.050 * 0.000) + (0.325 % 0.050 * (5.000 + 0.000 + 0.000 + 0.000))
msE ) R - SR LE R
(b i 1) 0.081 m3 = 0.081
ety e | Kol = HEIEUE &
(4 1) 0.861 m3 = 0.861
w0y E ) B = mEIEE R
(4 1) 0.861 m3 = 0.861
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TIEES 22 IFEAH |P50KkEAETLS I—+EE 02 =R [EESMER-G-WAER B 7 3%t=800
JEFE ] JE G S R 1| - S SV
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
27.000 m = ((27.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.325) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
8.775 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (27.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
2.895 m3 = 0.325 * 0.330 * (27.000 + 0.000 + 0.000 + 0.000)
ezl ) WiEEE = (((FEE X BER) - Bl X (ELER + fELER)) + (FEE X BEL X (RELERE + RiEER))
5.676 m3 = (((0.325 * 0.650) — 0.001) * (27.000 + 0.000)) + (0.325 * 0.650 * (0.000 + 0.000))
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
8.775 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (27.000 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
8.775 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (27.000 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
8.775 m2 = ((0.000 — 0.325) * 0.000) + (0.325 * (27.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))
2.895 m3 = ((0.000 — 0.325) * 0.330 * 0.000) + (0.325 * 0.330 * (27.000 + 0.000 + 0.000 + 0.000))
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IEES 22 TIiEEM |P50KEAELSE —+&S 02 —bBFR  [(EESNERR- G- WAL E 7 E%t=800
ZE =] B oo®% L om0 FH K K
TRHIEO R L ) E = (EFIE - F@iE) X BEZ X #$FRER) + (F@E X JBER) - FEs) X LTMHER) + Rl X ER X (RIELEE + RILER + MEER))
2.227 m3 = ((0.000 — 0.325) * 0.260 * 0.000) + (((0.325 * 0.260) — 0.002) * 27.000) + (0.325 * 0.260 * (0.000 + 0.000 + 0.000))
FIETHORE L . BE = (MFEEFER X ER) - (FEREHIEEE X Z8ER)) X #FHER + (FEEHIEERE X Eh) X (ETER + fR#EEER + LR + MELER)
1.491 m3 = ((0.000 * 0.000) — (0.325 * 0.000)) * 0.000 + ((0.325 * 0.170) * (27.000 + 0.000 + 0.000 + 0.000))
Ry . HACHHIE R = (TR - @) X JEA X #MFRER) + (F@E X JEh X (ETER + KEEE + RiiER + MELR))
(Bl m ) 0.438 m3 = ((0.000 — 0.325) * 0.050 % 0.000) + (0.325 % 0.050 * (27.000 + 0.000 + 0.000 + 0.000))
¥R 4057 . B = HEmEE e L e
(B2 m ) 0.438 m3 = 0.438
Ry ) ¥ = R LE L&
(1) 2.895 m3 = 2.895
54057 ) BE = WHIE2E LA
(1) 5.676 m3 = 5.676
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TIEES 23 TIERH [HRKEIS I—+EE 01 =R |Z0fthTTE - G-WAERE f 5% t=1000

JEFE ] JE G S R 1| - S SV

(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
38.000 m = ((38.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) * 0.000)) * 1.000

AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
10.450 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (38.000 + 0.000 + 0.000 + 0.000))

ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
5.538 m3 = 0.275 * 0.530 * (38.000 + 0.000 + 0.000 + 0.000)
ezl ) WiEH R = TEE X B X (ELER + RIELERE + HEEEE + MEER)

5.434 m3 = 0.275 * 0.520 * (38.000 + 0.000 + 0.000 + 0.000)

AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
10. 450 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (38.000 + 0.000 + 0.000 + 0.000))

HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
10. 450 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (38.000 + 0.000 + 0.000 + 0.000))

AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
10. 450 m2 = ((0.000 — 0.275) * 0.000) + (0.275 * (38.000 + 0.000 + 0.000 + 0.000))

FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))

5.538 m3 = ((0.000 — 0.275) * 0.530 * 0.000) + (0.275 * 0.530 * (38.000 + 0.000 + 0.000 + 0.000))
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JETES & i B ) T S SV
SRHIHD R L ) ik = (GETIR - EdEiE) X Ba X @REER) + ((FHE X E2) - FE) X HTER) + (FliE X Es X (RELE + RELEE + MELER))
3.097 m3 = ((0.000 - 0.275) * 0.300 * 0.000) + (((0.275 % 0.300) — 0.001) * 38.000) + (0.275 % 0.300 * (0.000 + 0.000 + 0.000))
®AyE : S EECR = (GRTIR - EIE) X EA X #FEER) + (@R X EA X (ETERE + /RIWLER + RIWILER + MEER))
(Bl i 1) 0.522 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (38.000 + 0.000 + 0.000 + 0.000))
ety e | R = BEEEEE UE H &
(b 2 i 1) 0.522 m3 = 0.522
msE : ik = EHIEUE H R
(4 ) 5.538 m3 = 5.538
ety e ) Foik = fRHIg2E i
(4 1) 5.434 m3 = 5.434
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RETEEEES - 12001700 [HMRETE]
TIEES 23 TIERH [HRKEIS I—+EE 02 =R [EESMER-G-WAER B 7 3%t=800
JEFE ] JE G S R 1| - S SV
(el ' #E = (LTER + RIEVILE + RBER + WELER) + (HEFHRAENE - F@iHiE) X MEFHETE)) X SIkrin
4.000 m = ((4.000 + 0.000 + 0.000 + 0.000) + ((0.000 — 0.275) * 0.000)) * 1.000
AR A . B = (FE - TR X MFEEER) + (F@E X (ETER + KRR + BEER + MEER))
1.100 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (4.000 + 0.000 + 0.000 + 0.000))
ezl ) LwieE = WilE X Bl X (LLER + RIEER + REER + MELER)
0.363 m3 = 0.275 * 0.330 * (4.000 + 0.000 + 0.000 + 0.000)
ezl ) TiEE = TliE X Eh X (ETER + KRIEEE + RIBLEE + MELER)
0.572 m3 = 0.275 * 0.520 * (4.000 + 0.000 + 0.000 + 0.000)
AL R . Bog = ((HEFiE - HdiE) X #FRERE) + (FElE X (ETER + KR + RiERE + MELR))
1.100 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (4.000 + 0.000 + 0.000 + 0.000))
HEARIEH . ok = (TR - FEiE) X #FEER) + (i X (ELER + RIEERE + TR + fELER))
1.100 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (4.000 + 0.000 + 0.000 + 0.000))
AR A ) B = (EFIE - SR X MFPREEE) + GFEE X (hLER + RIFLCERE + REEE + MELER))
1.100 m2 = ((0.000 - 0.275) * 0.000) + (0.275 * (4.000 + 0.000 + 0.000 + 0.000))
FRHIE O R L . o = (TR - FEiE) X BEA X MFRER) + GF@lE X [EL X (hLER + [EER + RELER + MELER))
0.363 m3 = ((0.000 — 0.275) * 0.330 * 0.000) + (0.275 * 0.330 * (4.000 + 0.000 + 0.000 + 0.000))
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TIEES 23 THEEM |RKEISE —+ES 02 —bBFR  [(EESNERR- G- WAL E 7 E%t=800
JETES & i B ) T S SV
SRHIHD R L ) ik = (GETIR - EdEiE) X Ba X @REER) + ((FHE X E2) - FE) X HTER) + (FliE X Es X (RELE + RELEE + MELER))
0.326 m3 = ((0.000 - 0.275) * 0.300 * 0.000) + (((0.275 % 0.300) — 0.001) * 4.000) + (0.275 % 0.300 % (0.000 + 0.000 + 0.000))
®AyE : S EECR = (GRTIR - EIE) X EA X #FEER) + (@R X EA X (ETERE + /RIWLER + RIWILER + MEER))
(Bl i 1) 0.055 m3 = ((0.000 — 0.275) * 0.050 * 0.000) + (0.275 * 0.050 * (4.000 + 0.000 + 0.000 + 0.000))
ety e | R = BEEEEE UE H &
(b 2 i 1) 0.055 m3 = 0.055
msE : ik = EHIEUE H R
(4 ) 0.363 m3 = 0.363
ety e ) Foik = fRHIg2E i
(4 1) 0.572 m3 = 0.572
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RETEEEES . 12001700 [ 4 #EREE]
TIEES 23 THEEM |RKEISE —+ES 03 =B |Rith(Con) #AKELIE (G-W)
ZE Je& #FOH" L o# S F "HoOORK
ezl . HimE = HliE X Eh X (ETER + KRIBLEE + RIPLEE + MELR)
4.500 m3 = 0.500 % 1.000 * (9.000 + 0.000 + 0.000 + 0.000)
LRI . B = (HFE - TEE X JBES X SFRER) + (F@iE X B X (ETER + KREER + TR + MEER))
0.450 m3 = ((0.000 — 0.500) * 0.100 * 0.000) + (0.500 * 0.100 * (9.000 + 0.000 + 0.000 + 0.000))
PRARAE A . E = (EFE - F@E) X MFEEE) + (FdE X (ETER + KEEE + RiBEE + MELR))
4.500 m2 = ((0.000 — 0.500) * 0.000) + (0.500 * (9.000 + 0.000 + 0.000 + 0.000))
IRHIE O R L . B = (FE - TEE X Bl X SFEEER) + (FEE X BER) - Fmf) X LTER) + (B X Bl X (REBEE + BER + MELER))
3.366 m3 = ((0.000 - 0.500) * 0.750 * 0.000) + (((0.500 * 0.750) — 0.001) * 9.000) + (0.500 * 0.750 * (0.000 + 0.000 + 0.000))
Ry . BE = EHIELUE -
(1) 4.500 m3 = 4.500
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IEES

23

TEAM |[fRKEIE

I—HES

Rih Gz A1) #HKETE (G-W)

JEFE

J&

Bl

]

g E = g

(ETHIER + RIBLER +

AT R + RIER)

0. 600 m3 = 0.500

* 0.300 * (4.000 + 0.000 + 0.000 + 0.000)

Ll

3

il

YRR = Wl

(ETHER + KRR +

RAMIER + WELER)

1. 400 m3 = 0.500

* 0.700 * (4.000 + 0.000 + 0.000 + 0.000)

EHISO R L

B = (GETFIE -

X HEH X MFHEE) + MF@E X EH X (ETEE + KIEE +

AT + EER))

0.600 m3 = ((0.000 — 0.500) * 0.300 * 0.000) + (0.500 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000))

EHI O R L

Bl = (T - @

X JEH X fEFER) + (G

X JEH) - FEE) X ETHER) + (s

AL R + MEER))

1.396 m3 = ((0.000 — 0.500) * 0.700 * 0.000) + (((0.500 * 0.700) — 0.001) * 4.000) + (0.500 * 0.700 * (0.000 + 0.000 + 0.000))

V- mu Ul

¥ = WEE2E

(HH1D

1.400 m3 = 1.400
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T I &% E Bt B B it B ox )
R EEEES : 12001700 [ H#E&EHE]
IiEES 23 TR |RKEIS I—hES 05 I—hEF R (Con) /K ELIE (WHE)
=Ll J& it " A /S F FooOK
] . Fmch = FliE X BEA X (ETIER + KR + RIPLER + ELER)
0.980 m3 = 1.000 * 0.980 * (1.000 + 0.000 + 0.000 + 0.000)
MR . i = (IR - g X A X fFER) + (FEiE X Ea X (ETIER + RIEER + TR + MEIER))
0.100 m3 = ((0.000 = 1.000) * 0.100 * 0.000) + (1.000 * 0.100 * (1.000 + 0.000 + 0.000 + 0.000))
AR IR . Hom = (TR - Sl X MFRIER) + (F@EiE X (BTIER + RIEER + URIERE + WMEIER))
1.000 m2 = ((0.000 - 1.000) * 0.000) + (1.000 * (1.000 + 0.000 + 0.000 + 0.000))
PRHIED R L . i = (IR - g X JEA X fFER) + (FliE X Ea X (ETIER + RIELER + TR + MEIER))
0.750 m3 = ((0.000 — 1.000) * 0.750 * 0.000) + (1.000 * 0.750 * (1.000 + 0.000 + 0.000 + 0.000))
Vs LAy . B = IS UE B R
CHit 1) 0.980 m3 = 0.980
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T T H EFFEE (G B &)
B EEEES . 12001700 41 EHE]
THEES 26 | THEEW |HEAEE I—tES | 01 | L—ME  |ZOMTEGEES) SEAEE
JEAER @ S S R R S S
I B = AEIHWAE - AT S A

549. 469 m2 = 549.469 - 0.000

SHEEATE IR Bl = AEIRERE - {5 s

549. 469 m2 = 549. 469 - 0.000

PRy E . WA R = CREIREE - (MR EE) X =
(F 2= 48 H)) 27.473 m3 = (549.469 - 0.000) * 0. 050

V- mu Ul . foE = G e LR

(il 2 4 1) 27.473 m3 = 27. 473
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R1. TREIE IR

KRO B -+ I t®IT % % x
R R { *g
1 1 1 13 ® o o - i
# m f£ f£ i ) &
2 " é’l A A H Z T
| o ® 2 & £ # 18
[S f=3 Y # 2 =] 5
% 5] = 20 FS # = 5]
= @ @ ® @ ® ® @ ©)
@/D*2 ®*Q*® ®/@
(m) (m) (t/m-#%) (m) () (t) (=) (t) (/) (m)
HRAS
10-01 0.25 2.0 0.0118 2.5 20 0.4720 1 0.4720 7 2.0mEATR 1. 1~1.5[{R L0 &
10-02 0.25 2.0 0.0118 3.0 24 0.5664 1 0.5664 7 2.0mEATF|1.1~1.5|KBE
14-01 0.25 2.0 0.0118 2.5 20 0.4720 1 0.4720 7 2.0mATF|1.1~1.5|KBE
14-02 0.25 2.0 0.0118 | 25.0 200 4.7200 2 2.3600 7 2.0mEATF | 0.9LL T |k
KEH
17-01 0.25 2.0 0.0118 2.0 16 0.3776 1 0.3776 7 2.0mEATF 1. 1~1.5[{R B0
21-01 0.25 2.0 0.0118 2.0 16 0.3776 1 0.3776 7 2.0mATF|1.1~1.5|KBE
21-05 0.25 2.0 0.0118 | 25.0 200 4.7200 2 2.3600 7 2.0mEATF | 0.9LL T |#EEiE
(BESFER-TAH - 51ikT)
R HEFE
1.5mEL T 2. OmEL T |2.5mEA T | 3. OmEAF [ 3. 5mELF [ 3. 8mELF
AR 33.0
Kl 29.0
(ZREI) (ZEREREH)
7 411 2 EliE FEAREH | HAEB# AREREE RIREHAER (o)
= 2. ompAF 3. 5meLF[3. 8mBLF [I= 78 1.5104 1.5t
0.9BLF | 25.0 H = 2[E 78 2.3600 2.4t
R 0.9~1.1
AR HA=T15[ 8.0 1@ 78 0. 7552 0.8t
1.5~2.0 Ki# 20 78 2.3600 2.4t
0.9LF | 25.0
. 0.9~1.1
KE ST 40
1.5~2.0




RIERFAES

KREBERIIL—FBTR REE(m) REIB(M) | 2EEER(M)  |FHEBERM) | #EREEREm)
ZOMTE (QEESN) FEAEIR 549. 469 0. 000 0. 000 0. 000 549. 469
#h | BS | E—F & (m) B D EFE(mM) | @mED REH(m)
FNG] 22| =#H (A) 6. 100 (B) 2. 800 (C) 7.509 8. 056 8. 056

23 (A) 7.509 (B) 6. 700 (C) 9.193 24. 803 32. 859

24 (A) 3. 700 (B) 6. 800 (C) 9.193 10. 976 43. 835

25| HAE| (L) 3. 300 (M) 3. 300 () 26. 000 85. 800 129. 635

26|  =#H (A) 11. 000 (B) 2. 200 (C) 9. 522 8.312 137. 947

27 (A) 9. 522 (B) 1. 800 (C) 8. 849 7.630 145. 577

28 (A) 2. 700 (B) 5. 500 (C) 6. 250 7.415 152. 992

29 (A) 6. 250 (B) 2.973 (C) 5. 709 8. 465 161. 457

30 (A) 5. 709 (B) 0.915 (C) 5.511 2. 497 163. 954

31 (A) 5.511 (B) 1. 286 (C) 5. 993 3. 407 167. 361

32 (A) 5. 993 (B) 1. 506 (C) 7. 154 3.131 170. 492

33 (A) 7.154 (B) 0. 697 (C) 7.812 0. 859 171. 351

34 (A) 7.812 (B) 1.043 (C) 8. 849 0. 464 171. 815

B AHE| (L) 5. 400 (M) 5. 400 () 31. 000 167. 400 339. 215

37 =#H (A) 7.500 (B) 3. 000 (C) 5. 880 8.231 347. 446

38 (A) 3. 500 (B) 3. 000 (C) 5. 880 4. 057 351. 503

39| =#H (A) 2. 700 (B) 65. 000 (C) 64. 444 85. 483 436. 986

40 (A) 64. 444 (B) 2. 700 (C) 65. 000 85. 483 522. 469

41 HE| (1) 2. 700 (M) 2. 700 €i79) 10. 000 27. 000 549. 469




